MT SERIES HSS-CO POINTED TAP
MTOOOO O0O0ooooboooo

MTOPTAP L
R i °
" ,7,4‘47_ I
Lc

Ml

OOoodoood

Lk
oo L1
L
oomssiscon 0OMmMSCMO | OO0 O45HRCO| 000 M 50HRCH O 0 O (I SKDO SKSO| 0 0000 (I SUSD| O [0 FCOFCDO oom A0 o cud
0 ] ] O o 8] 0 ]

000000000

oo MTO PTAP

goooo
oo oo oo ooL ooo ooo ooooo oo goooo oooo 300000000
Mx P Lcf e L1 d Lk K 1040 50290
M2 0.4 5P LM2 40 9.5 15 3 2 5 25 920 650
M25 0.45 5P LM2 44 95 16 3 2 5 2.5 810 570
M2.6 0.45 5P LM2 44 9.5 16 3 2 5 2.5 770 540
M3 0.5 5P LM2 46 11 18 4 3 6 3.2 650 460
M4 0.7 5P LM2 52 13 20 5 3 7 4 640 450
M5 0.8 5P LM2 60 16 25 55 & 7 4.5 640 450 oooooo
M6 1 5P LM2 62 19 28 6 3 7 45 650 460 -
M8 1.25 5P LM3 70 22 35 6.2 3 8 5 860 600
M8 1 5P LM3 70 22 35 6.2 3 8 5 950 670
M10 1.5 5P LM3 75 24 39 7 3 8 55 1,030 720
M10 1.25 5P LM3 75 24 39 7 3 8 5.5 1,030 720 oool
M12 1.75 5P LM4 82 29 42 85 3 9 6.5 1,350 940 HHH
M12 1.5 5P LM3 82 29 42 8.5 3 9 6.5 1,350 940
M12 1.25 5P LM3 82 29 42 85 3 9 6.5 1,350 940
M14 2 5P LM4 88 30 46 105 3 11 8 1,540 1,350 ooooooo
M14 1.5 5P LM3 88 30 46 105 3 11 8 1,540 1,350
M16 2 5P LM4 95 32 50 125 3 13 10 1,990 1,740 W
M16 1.5 5P LM3 95 32 50 125 3 13 10 1,990 1,740
M20 2.5 5P LM4 105 37 56 15 3 15 12 3,250 2,850
M24 3 5P LM4 120 45 72 19 3 18 15 5170 4,520 nooo
M80DDDDDOOO0ODODOODODDODO
%DDDDDDDDLMDDDDDDDDDDDDDD]IEP.IlQﬂ:DDDDDDDDD
o,de, MTLPTAP O M30.50 5P (] psteer =003 g
B | =X D‘D DEI]"\AxPD 00 LefO i (®O000000PMENOOD 00000000000
V7 7277
ooo
e J000OD0ODDODDODODODODODOODOOODUDODOODODODDOO u]
e 0000 00O00DODODOOOOOUODODOOOODODOUODOOODDOOODODOODO
oooooo .
ADOOOOO0O OO00OO0OOOO A-POT ooo
gooo
AD0000D0D0000000
oooo ° o
e 0000000 CONN0.25%000 000 CHO00.2500.45%(0) -
000 CcO000.45%0 M 00 M SCMM 00000 M SUSM
00 SKDI 0 0 SCI 00000 0 0 FCDMI [0 Cul 0 [ Bs[D . oooooo
O00MmMBsCIOMMPBMIOOOIODDMALIIOOOO OO D ACIADCIT Lc ‘
goooooooomMCc OO0 O0OOmzbed — .
oooo L1 oo
e 0000O0OOOO L U U
e DODOD00VOOD 000000 e OOOSP
®DEDD]DDDDDI\DXEDDDID‘OME]D«[XUDD‘DED 00 -l O
oo oo |ooo DECD DLDlD DDD []Elj]] goooo jooooo oo oo |ooo [ECD DL]:[D DDD ]]Elj]] goooo jooooo
AL POTLM2X04A00HL5 |M2 |04 12 | O |40] 3 | 2260 [100  ALPOTLMI2XL./50 OH4 |M12]1.75] 29 | 48 | 82 | 85| 3.280 [00 0
A0 POTO M2.5X0.450 OH2 [M25]045] 14 | O [44| 3 | 1970|100  AJPOTLMI2XL500H4 [M12[ 15| 29 | 48 [82 85| 3,280 [00DO
AL POTL M2.6X0.450 OH2 |M2.6]0.45] 14 | O |44 | 3 | 1,880 [100  ALPOTLMI2X1.250 OH4 [M12[1.25] 29 | 48 |82 |8.5| 3,280 (00O
AOPOTOM3X0500H3 | M3 (0511 [19 [46] 4 | 1590|000 ADPOTOMI2XI0OH3  [Mi2[ 1 | 29 [ 48 [82 (85| 3,700 [100
ADPOTLMAX0700H3 | M4 071321 |52| 5 | 1570|000 ALPOTLMIAX21OH4 _ |M14] 2 | 30 | 48 | 88 |10.5| 4,680 (00O
ADPOTOMAX0500H3 | M4 (0513 [ 21 [52] 5 | 1,940 [100  ADPOTLMIAXL500H4 |M14[ 15| 30 | 48 | 88 [10.5| 4,680 [0 0O
ADPOTLM5X0.800H3 | M5 0.8 16 | 24 |60 55| 1570 000  ALPOTLMI6X21OH4 _ |M16] 2 | 32 | 52 | 95 |12.5| 6,060 (000
ADPOTOM5X0500H3 | M5 0.5 16 | 24 [60]55] 2,030 [100 _ADPOTLMI6XL500HA |M16] 15| 32 | 52 | 95 [12.5] 6,060 [000
A0 POTL M6X10 OH3 M6 | 1 |19 |29 62| 6 | 1600|000  AJPOTLMI8X2.500H5 |M18|2.5 | 37 | 55 |100] 14 | 7,940 [0 0O
ACPOTLM6X0.7500H3 | M6 [0.75] 19 [ 29 [62| 6 | 2,000 000 AJPOTLMISBXL500H4 |M18[ 15| 37 | 55 [100] 14 | 7,940 [000O
AL POTLMBX0500H3 | M6 05|19 | 29 |62 6 | 2,240 [100 AL POTLM20X2500H5 |M20|2.5| 37 | 58 |105| 15 | 9,870 [0 0D
ADPOTOM8XL2500H3 | M8 [1.25] 22 | 37 [ 70|62 2,090 [000 _AJPOTLM20XL500H4 |M20[ 15| 37 | 58 [105] 15 | 9,870 [000O
A0 POTL M8X10 OH3 M8 | 1 |22 |37 70|62 2320|000 AJPOTLM22X2.500H5 |M22| 2.5 | 38 | 63 |115] 17 | 12,600 [0 00
AOPOTOMI0X1.500H4 [M10]1.5| 24 [ 41 [75] 7 | 2520|000 _ADJPOTM22XL500H4 |M22[ 15| 38 | 63 [115] 17 | 12,600 [00 0O
AL POTL M10X1.250 OH3 [M10|1.25| 24 |41 | 75| 7 | 2,520 [000  ALPOTUM24X300H5  |M24| 3 | 45 | 66 |120| 19 [ 15,670 [0 0D
AOPOTOMIOXIOOH3  |M10] 1 |24 [ 41 [75] 7 | 2,820 100 _ADPOTLM24X1500H4 |M24] 15| 45 | 66 [120] 19 | 15,670 (00O
00D00O0DDOO0OO0O0ODOOOODODDOOOOO e J000MO0000PME00000000000000000
VONAD O 000000000 0120-8343-256 | » 000000000000M0000000000000000000000 1 1 16

OlPOO000OO0OOOOeEO0-7





